FFEE/N06RFEE FRIE —RENRTE B2 36 28 I 3t &&:

N

—- ~ BLBIEAFELMI ARy 0 ELE2H5:
s £A104c o

L(@)1m@arf:2@8—2-OI120 @
102 @112

2.( @) — B Fofr&r 59 ny o —dur
RN SRR CERCE TR S
Bl B oAt & mE 10 oy AR ?
D6fa: @748: @8 @c -

(@) BT — BB o AT
100 «xa Eh:

pu
<6 18¢ () A 4 fe
B AR B
i ? D164 s @ 180s (3200

n~\

4. ( ) %I AH T8y » i BT — &39
RIS R 0 R RILTF L&Y
+rv? O40 Ly @ S0y 360

o

é[\

50 @) e megs i Eopi i Eg
Ri0g ko FBiRI AL 4 He 85 E
— ekl e 3 K Bl E
—Ake kil 85 Fo A Midor E2I
— @i ke ? O#: % ©Q
#Hra i @— Mokl

=~ EEHEET s HUALEE24C 0 #£136

LIl otk ( — B — +-— ) o
/’"“::\ [0!}! LT B
2.201m5 @) Teaa-#i (2 ) K f g

3.48+52=100 » FrBosh  Hidh A AT o
D100—52= ( 48 )
@100—48= ( 52 )

A3 Beryg e RPN Loy B LHEY B LA

= & « 7
—3 /{@tﬁx‘ ©°

109 190 119

(190 ) > ( 119 ) > ( 109 )
S BB T L@ 60 B R A R o

63 || 71 || 59 |[103]|| 35

157

(OYEEYERS S IR LE S -
( 63 )~C 103 )

EREEE TE I SEK 12 3% B
(59 )~( 157 )e

QB ML BT i F
( 103 )~(C 157 )o

6. AIEMyMIALET
) C

)
DOC 49 )@mifr( 11 )48

o

Q@—-#iRrkiktl niss» W

7. ABAIAET
)

||||||||||||||||
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15

TR (5 ) A

N
7

S

FrmrErA A< |

Ptk

AT
Jy e SR LF = ( 16 )

i o

SN

=
5



Mo t—-
Ri=
L 101 > 80

3. 19422 >

5. 33+15 < 16+33

FAN

1.16+52= (

3. 68+24= (

5.0 Rk — =K

T 1
— 4 5

2 6

CHY RS CE R S S% C
FAE3H5 o

B ER] AAEIAL> ~ <K
s FLEE255 0 EL245s

2. 199—10 = 189
35 4.

26 = 88—62

6. 40—5 < 5+45

I~ AFE=H0
BaSHLAys o EU65c o
68 ) 2. T4+46= ( 53 )

92 ) 4. 38—19= ( 19 )

o BR R Ay k e

‘axh

L

T

R M R TS AN

Q(/ . « ©

(=3 . N 5
IR LRI R AR B R > T
peibrmiEL T gL 30 At o HrHIHEL
TomifEr LL gL S5 gt s FURIF S

AL cES AR - 24

R SEU S 2 g

A3 i ONTS
? 75 2xigrs
2 Bl ]
43 2isrE FLTFL?

7H—43= ( 32 )

(98]
g
N
&

Koot 85 Eas

B R, MM LA

19 %o RIAHERIAG

24+19= ( 43 )

%yl 434 .

;E;V 26 ﬂﬂ«/\ #j}E F}ﬁ #Twﬁi@#?’i*%j ’
Ao 18 AIAHE AN BB ET >

Far oA 1Y I

90—68= ( 22 )
Byl 224m8

By TiRrit i & e |



